TARGET To practise addition and subtraction for larger numbers.
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Copy and complete. Copy and complete. Set out as in the example.
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() There are 3594

passengers on board @ 937054 - 739486

@ Rangers play Rovers both

a cruise ship. 1768
more passengers come
on board. How many
passengers are there
now on the ship?

Between 10 am and

11 am, 8130 people
enter a shopping mall
and 6143 people
leave. How many
more people are in the
mall at 11 am than at
10am?

at home and away. The
matches are watched by
crowds of 49 384 and
37957. What is the total
attendance for the two
matches?

@ In one year a delivery

van is driven 61 380
miles. This is 16 487 miles
further than during the
previous year. What was
the van’s mileage in the
first year?

@ A manufacturing
company has annual
sales of £851 602 and
expenses of £164 918.
How much profit is
made?

@ In ten years the
population of a
city increases from
457 485 to 537 240.
By how much has the
population increased?



